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COMMON FIRST REVISION TEST - 2023
standard XI Reg.No.

PHYSICS .

Part - | ' Marks: 70

Choose the correct answer: | . 15 x 1 =15
The velocity of a particle v at an instant tis given by v =at + btz. The dimension of
bis | '

a) [L] b) [LT] c) [LT] d) [LT]

An object is dropped in an unknown planet from height 50 m, it reaches the ground
in 2s. The acceleration due to gravity in this unknown planet is

ayg=20ms? - b)g=25 ms-? c)g=15ms™ d) g =30 ms™
Force acting on the particle moving with constant speed is
a) Always zero b ol b) need not be zero
c) Always non zero " d) cannot be concluded
If the linear momentum of the object is increased by 0.1% then kinetic energy IS
increased by ,
a) 0.1% . b)0.2% c) 0.4% d) 0.01%
A couple produces I : i
a) Pure rotation b)pure translation
c) Rotation and translation d) no motion
If the distance between the earth and sun were doubled from its present value, the
number of days in a year would be -
a) 64.5 b) 1031 c) 182.5 +d) 730
_|f a wire is stretched to double of its original length , then the strain in the wire is
a) 1 b)2 - ¥ c)'8 ‘ d) 4
When a cycle tyre suddenly bursts the air inside the tyre expands, This process is
a) isothermal b) adiabatic c) isobaric d) isochoric
A sample of ideal gas is at equilibrium which of the following quantity is zero?
a) rms speed ' £ b)average speed.
c) average velocity d) most probable speed
A particle executing SHM crosses points A and B with the same velocity. Having

taken 3 s in passing from A to B, it returns to B after another 3s. the time period is
a) 15s ~ b)6s i c) 12s d) 9s.

A sound wave whose frequently is 5000Hz travels in air and then hits the water
surface. The ratio of its wavelengths in water and air is

a) 4.30 b) 0.23 ¢) 5.30  d)1.23
The distance between a node and its neighbouring antinode is el )
a) %, b) 4 ' c) A , d) 3%

The difference between specific heat capacity at constant pressure and specific
heat capacity at constant volume is

a) T b) R c:PV d) Q

If the Reynolds's number R_is less than 1000 then the flow is

a) stream line b) turbulent c) Steady d) unsteady
The geo stationary satellites are placed at a distance of

a) 86400 km 'b) 800 km c) 3600 km d) 500 km
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(2) XI Physics
Part -l
- Answer any 6 questions. (Q.No.24 is compulsory) 6x2=12

State the principle of homogeneity of dimensian
Consider a circular road of radius 20 meter banked at an angle of 15°. With what
speed a car has to move on the turn, so that it will have sale turn?
State Zeroth law of thermodynamics :
State work - kinetic energy theorem

What are longitudinal waves? Give one example.

| State Newton's universal law of gravitation.

Write Pascal's law
State perpendicular axis theorem .
A train was moving at the rate of 54 km h-' when brakes were applied. It came to
rest within a distance of 225 m. Calculate the retardation produced in the train.
Part - lli s
Answer any 6 questions. (Q.No.33 is compulsory) 6x3=18
Write the rules for determining significant figures.
Show that impulse is the change of momentum.
Derive the expression for the potential energy.near the surface of the earth.
VWhat is orbital speed? Derive the equation for orbital speed.
Draw the PV diagram for
a) 1sothermal process b) adiabatic process = ¢) isobaric process
State the law of equipartition of energy
A wire of length 2 m with area of cross section 10 m? is used to suspend a load
of 980 N. Calculate the stress and strain
Explain red shift and blue shift in Doppler Effect.
Calculate the amplitude, angular frequency, frequency, time period and initial
phase for the simple harmonic oscillation Y = 0.3 sin (40xt + 1.1)
Part- IV -
Answer all the questions. 5x5=25

1. a) Describe Newton's formula for velocity of sound waves in air and also discuss

the Laplace's correction (OR)

b) Obtain an expression for the time period of a simple pendulum. The time
period depends on i) mass m of the bob ii) length of the pendulum and
i) acceleration due to gravity g at the phase where the pendulum is suspended
(constant k= 2x) -

a) Explain in detail the triangle law of addition. (OR)
) Describe the horizontal oscillation of a spring. |
a) Write down the postulates of kinetic theory of gases. (OR)

b) Obtain an expression for tension of a string at lowest and highest point of
vertical circular motion of a body and also find the minimum speed of the
body at lowest and highest points. ' '

". a) Derive the expression for moment of inertia of a uniform disc about an axis

passing through the center and perpendicular plane.  (OR)

b) Explain in detail Newton's |aw of coaling.

a) State and prove Bernoulli's thearem for a flow of incompressible non viscous
and stream lined flow of liquid (OR)

b) Explain the variation of g with altitude.
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